
 
�������  �	
�	 �
��� ���� ����	 �����)7  ��9   ��� ����1392(  

 

138 

 

 

  -.���0� [ه! #'�� �ره� از #ا ����0 _�ن�ه�E 0[��� -[ه! #3�ز  .'�� ر�6اد
  

، ��� MN) ا����٣�J1ر6 -، ���داد�H٢اO) - (*)، ���اب �qN١�) ��ار    

� MN�H) ���� ه�
ان دا����ي ��ر"���) ار"
 ز���-١��"���) ا!� �دي دا��  

Azimi.sk@gmail.com 

� MN�H) ���� ه�
ان          ��-٢ �hN ه�MN Xg�) دا��  

  barati@basu.ac.ir 

� ز���ن -٣���hN ه�MN Xg�) دا��  

amokhtari@znu.ac.ir 

-��M; :  

�!	� (�	* �=: "# �1TH� = �	G��6K-4� �
 �#�� 	=( �=: ) �=:- �	.:�� �� 38	
 �� "# �V
 	=( Y�4V� +�1TH� 

�"�U
 *3/� 	= ) �2" 	=�� 	
 #	�

 Y�4V� "# 6I
# �*( "�)� ) "# �")	G� 	
 ���)#�� 	= ) 	=3&
)( ���� ���HI" 

��4�	 3!
. �!	� ��	< K-��6 �3H=# 
�� !	�� �	*( 	= �"	?/ �
 4H,��� �#�
 �� �
 �	�"# �%�C� �"	��4� �38 3!
 ."# 

I�
� b	1!+ ����� �	C � �
 3&( �*
 �� �� �
��  
�� �V
 	= 
" �
�H�
 rH !	� �=: - �	.:�� KC��W #��!.  

�	��	T� 8�Jw���	�� ��	H/  "#	!�	I� "# �!��! 	=( �4��2 �38 �
 *3/� 	=( +�=: �=:- �	.:�� ) 	="��
( ���	.:  

�1TH� �=�+�	G �? ! (5	
 LREE/HREE 
" �
��= 	
 ��	��!: �V-� Eu �	-! �� 3H=# �� �)	C4� �
 (�,�
 

���	.: (	= �
�*" 	
 �	��!:� �CH� Ce ) (
�4^� ���	. REE 3H4 = .(�,�
 REE 
�� rH !	� +	= �
	-� 	
 (�,�
 

(	="	 !	� �=: ��� 	!)��	� "# b	1! Y�4V� �	B� �*
 �� ��
 X�%�� �� 3!
�� �,!	-! '-H� ) (	=3H�
�� �
	-� (
�
 

6�K-� 	B!: 38	
 .  

(�,�
 REE ) �f��
 �? ! (5	
 LREE/HREE "# ���	.: (	= �1TH� �=�+�	G ��	B
	-� 
" 	
 (�,�
 REE �I�
 

(	B,H* ��"o: ��	K�: )3H!	� ���	H
�� 	= (�	-! �� 3H=# �� ��
 X�%�� �� 3!
�� (	��2 '-H� ��"o: )	�2	��� ((
�
 

��	.:� 	= ) !	�� �	*( �=: - �	.:�� �1TH� 38	
.  

  

���+� ��$ -?�� :�$4 ���
 ���� - ���9 ���� �O��/ �����5�? ��!��&�� �$4 ��$ ��B��� � ����$ �(�D�	4  

:��2�:  

!	�� �	*( �=: �=��	G "# ���	� #)3& 11 (�4����� ��H� �4I	
 #	
	B
 ) "# �")	G� 	4*)"( �=��	G "
�$ �4��2 

�*
 ) 6K81)2 .("# 0� 1� (3H
 �)� (	= ���� �4I	* - �
�*" +�
��
 �#)3^� #"�� ���	T� �-V
 �
 ~��
 �-. D
#	
 


" "# �)� �
��
 (���� 6�K-� �� 3=# .
�� �1TH� ��� K���� �
 �-1! 1:100000 ���� *	H8� #"�C*
( 
" "# �V
 

	=( ")	I( �: �
 #�I `	U4I
 �*
 �#
# .	=3&
)( ,H*� K-��6 H=#�3 
�� �1TH� �	�	�� b�
�� �
 �?�	��.�� ) 


